1. 5x-24y+x-3{x-23x+y) +y}] & T3] stH?

@—27x - 14y @ -12x -5y @ 4x-11y

@ 12x+ 10y ® 20x+ Ty

~&B

5x — 2[4y + x - 3 {x-2(3x+y) +»}]

=5x—2{4y+x-3(x—6x—2y+y)}
=5x—2(4y + x — 3x + 18x + 6y — 3y)
= 5x — 8y — 2x + 6x — 36x — 12y 4 6y

= —27x — 14y
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2. 2x-[-3x+2{x-(y-1)-2y}] E 25| 5t¥?

@ 3x+y+2 @3x+6y—2 @ x+3y

@ 2x - 6y ® x+2y-2

~&B

2x = [-3x+2{x- (y - 1) - 2y}]
=2x— (-3x+2x—2y+ 2 —4y)
=2x+3x—2x+2y—2+4y
=3x+6y—2
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15xy—10x2 (——>+
(15xy—10x) % 0

y? = 3xy
y2
y> = 3xy
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—9y+6x+y—3x = 3x—8y
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@ (-2x7)% = (=x%)? x 3x = 6x1°

@Qab + (3a®b)? + a®b = 11ab
® (2x* +5x—7)+ (-3x? 4+ 6x+6) = —x? + 11x + 2
@ (6a%b + 4a®) +2a = 3b + 2a

® -3x(2x—y) + 9x? = 15x2 + 3xy

2ab + (3a®b)? + a®b = 2ab + 9a°b* + a®b
= 2ab + 9ab = 11ab




welo] mofo] HAztegol, 1 W] 7tz Pojst Az Polt
7} 715 0] Lt o] A2E71%] 237} 36422 <
A’)

@ 6a @ 6b @(mb @ 10ab  ® 10b

A27)59) ol 8 het & o
2a % 3b x h = 36a°b>

6abh = 36a°b>

. h = 6ab
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T~3pi--7
D)27a + 1 @ 27h+1 @ 9a+1
@ 9b+1 ® 27ab +1

1
(AHrE o] Hal)= 3b% x a X x X ne 27a?b* + ba

ab?x = 27a%b? + b%a
Lx=2Ta+1
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A=x(x-2),B
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@ 12 3 14 @)-14 ® 16

® -12

2A-2B = 2(A-B)

x2=2x, B = x*+2x+3°]1L A-(2B-A)

A=




2y,B:2x+y%] o, 2(3A - 2B) - 3(2A -B) € x, y °I

® 2x+y @)-2x—-y ® 5x—y
@ 3x-y ® x-3y
2(3A-2B)-3(2A-B) =6A-4B-6A +3B=-B

webA B = 2x+ y B HHASHE B = —2x -y o]},




